
APOH_HPRR350085

Age

M
FI

 [A
U

]

0
20

0
40

0
60

0
80

0

>60 years <40 years

Reactive
Not reactive
S3WP
DHR

3 of 22 [14%] 0 of 42 [0%]

Fisher's exact test p−value = 3.7e−02

CACNA1S_HPRR3410014

Health

M
FI

 [A
U

]

0
20

0
40

0
60

0
80

0
10

00

Excellent OK

Reactive
Not reactive
S3WP
DHR

5 of 68 [7%] 0 of 85 [0%]

Fisher's exact test p−value = 1.6e−02

CENPF_HPRR1390030

Sex

M
FI

 [A
U

]

0
50

0
10

00
15

00
20

00
25

00
30

00
35

00

f m

Reactive
Not reactive
S3WP
DHR

2 of 118 [2%] 7 of 75 [9%]

Fisher's exact test p−value = 2.9e−02

F2_HPRR3790030

Health

M
FI

 [A
U

]

0
50

0
10

00
15

00

Excellent OK

Reactive
Not reactive
S3WP
DHR

4 of 68 [6%] 0 of 85 [0%]

Fisher's exact test p−value = 3.7e−02

GARS_HPRR2440243

Health

M
FI

 [A
U

]

0
50

0
10

00
15

00
20

00
25

00

Excellent OK

Reactive
Not reactive
S3WP
DHR

4 of 68 [6%] 0 of 85 [0%]

Fisher's exact test p−value = 3.7e−02

NUP210_HPRR3890586

Sex
M

FI
 [A

U
]

0
10

0
20

0
30

0
40

0
50

0
60

0

f m

Reactive
Not reactive
S3WP
DHR

0 of 118 [0%] 4 of 75 [5%]

Fisher's exact test p−value = 2.2e−02

SAE1_HPRR3280031

Age

M
FI

 [A
U

]

0
20

0
40

0
60

0
80

0

>60 years <40 years

Reactive
Not reactive
S3WP
DHR

3 of 22 [14%] 0 of 42 [0%]

Fisher's exact test p−value = 3.7e−02

TNNT3_HPRR3890527

Sex

M
FI

 [A
U

]

0
20

0
40

0
60

0
80

0
10

00

f m

Reactive
Not reactive
S3WP
DHR

1 of 118 [1%] 5 of 75 [7%]

Fisher's exact test p−value = 3.4e−02

TSGA10_HPRR2920464

Age

M
FI

 [A
U

]

0
10

0
20

0
30

0
40

0
50

0
60

0

>60 years <40 years

Reactive
Not reactive
S3WP
DHR

3 of 22 [14%] 0 of 42 [0%]

Fisher's exact test p−value = 3.7e−02

ZNF688_HPRR3610292

Sex

M
FI

 [A
U

]

0
20

00
40

00
60

00
80

00
10

00
0

f m

Reactive
Not reactive
S3WP
DHR

73 of 118 [62%] 58 of 75 [77%]

Fisher's exact test p−value = 2.7e−02


